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SECTION A: MATHEMATICAL REASONING

1. IfP,Q, and R are distinct whole numbers from 3. The breadth of the rectangle shown in the
1t09, and figure is % of'its length. What is the area of the
PQR shaded region?
PQR 18 m
+PQR < >
R R R
Determine the value of Q — (P +R).
a) 1 b) 2
c) 3 d) 4
a) 216 m? b) 108 m?
c) 72m? d) 118 m?
2. Average of marks obtained by Kavita, Raman
and Ahmad in a Maths test is 37. If Kavita’s
score is 30 and Raman’s score is % of Ahmad’s 4. If each side of a right triangle is increased by
score, determine the marks obtained by Ahmad. 10%, its area will be increased by
a) 42 b) 48 a) 10% b) 20%
c) 45 d) 60 c) 21% d) 30%

SECTION B: EVERYDAY MATHS

3. Mohit starts saving money in has piggy bank. 6. When a ball bounces, it rises % less of the

He puts X2 on the first day, 34 on thégecogd height from where it fell. If the balls is dropped

day, %6 on the third day and so forth. In how from a height of 24m, how high will it rise at
many days he will save 110? the third bounce?
1 7
a) 8days b) 10 days a) 135 m b) 8 gm
¢) 12 days d) 14 days ) 7§ m d) 22m

SECTION C: LOGICAL REASONING

7. What is the missing term in the following 8 If n A =7

series?

— =2

0, 6, 24, , 120,210 Q

a) 48 (=9

b) 60 Then - A =79

¢) 96 a) 5 b) 4

d) 100 c) 3 d 1
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SECTION D: BRAINBOX

9. Ina society of 850 houses, each one has a car 10. The price of a shirt and a T-shirt are in the ratio
and no one has more than two cars. If 600 5 : 3. To make their price same the shopkeeper
houses have small cars and 325 have SUVs. offered a discount of 3240 on the shirt and
How many houses only have small cars? increased the T-shirt by *160. What was the

' initial price of the T-shirt?
a) 525 b) 475 a) 2100 b) 2800
c) 385 d) 350 c) %600 d) 2350
EEN

1. (B) 2.(C) 3.(B) 4.(C) 5.(B) 6. (A) 7.(B) 8. (D) 9.(A)  10.(C)
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